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General Instructions :

Read the following instructions carefully and follow them :

(i) This question paper contains 34 questions. All questions are compulsory.
(it)  This question paper contains two sections :

Section A — Macro Economics

Section B - Indian Economic Development

(iti) This question paper contains 20 Multiple Choice type questions. Each question
carries 1 mark.

(iv) This question paper contains 4 Short Answer Type-I questions. Each question
carries 3 marks. Answer these questions in 60 to 80 words.

(v) This question paper contains 6 Short Answer Type-1I questions. Each question
carries 4 marks. Answer these questions in 80 to 100 words.

(vi) This question paper contains 4 Long Answer type questions. Each question
carries 6 marks. Answer these questions in 100 to 150 words.

(vii) Attempt all parts of a question together.

(viii) In addition to this, note that a separate question has been provided for Visually
Impaired candidates in lieu of questions having visual inputs, map etc. Such
questions are to be attempted by Visually Impaired candidates only.

(ix)  There is no overall choice in the question paper. However, an internal choice
has been provided in few questions. Only one of the choices in such questions
has to be attempted.

SECTION A
Macro Economics
1. To arrive at the value of Net Value Added at Market Price (NVA, ),
must be to/from Gross Value Added at Market Price
(GVAp)- (Choose the correct option to fill in the blanks) 1
(A)  depreciation, added
(B)  depreciation, subtracted
(C) net indirect taxes, subtracted
(D) net indirect taxes, added
58/5/1 # 3| Page =45 P.T.O.
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2. UEAH HITSC foR, FreAfeiiad & € -8 Tk STast e o hi avrd 781 A g | 1
CHACETREIREREEAISIY!

(A) TN ERI I FUY Y {:3[eh Eeh ()
(B)  TFT T Y&t 187 T

(C) Tt =afer g Yora feohe 1 e

(D)  Toreft STt it TRUTietehTt SR MU T &TEe (Street light)

3. fora=f forfwr a2 Feieor & wi & qfd <hl sITsiR wrierat forferar <2 womreft <
3T Asha ®9 § TR R R 8 |
(kT <l gfdd o forq @@l forshed ol =R ST
A) e B) =
(C)  veilea forat (D) TR fawt
4.  TrmfaRad oAl w0l emgee ufeu : 1
F 1 :  ATEHIRRT AUt o SN, TRl g T Fesi™ o T (Repo) S H TG
FLHFATS |
FIF2 ;. HEHR G ISR § WER Sfavfadl (G-Sec) o 3 ST STaehifaeni
AT 1 HH L Tl § |

few T sherT o 3TTeties |, FfeiRad § & gt foehed o1 =R hifse
(A) AT 1T 8 AN FIH 2 A E |

(B) 13T INFIT2HIR |
(C) FHIT1IMNM2IATIE |
(D) HIT1 N2 IAITE |

5. 10 & forgid & faid, “ded W (Reference line) ﬂﬁﬁgﬁ 0T T
=t ST ot e He @ g |
(kT2 <1 g o ToTq |et forshed <1 == h1fTY) 1
(A)  25h° (B) 45°
(C) 55° (D) 75°
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2. Identify, which of the following does not represent a public good. 1
(Choose the correct option)

(A)  Free vaccines provided by the government
(B)  Defence services provided by the military
(C)  Purchase of railway ticket by an individual

(D)  Street light installed by a city municipality

3. Market forces of demand and supply, actively interact under
exchange rate system to determine the foreign exchange rate.

(Choose the correct option to fill in the blank) 1

(A) fixed (B) flexible
(C) managed floating (D) fixed floating
4. Read the following statements carefully : 1

Statement 1 : During deflationary gap, the Central Bank of a country
may increase the repo rate.

Statement 2: The government can reduce the deflationary gap by
purchasing Government Securities (G-Sec) in the open
market.

In the light of the given statements, choose the correct option from the
following :

(A) Statement 1 is true and Statement 2 is false.

(B) Statement 1 is false and Statement 2 is true.

(C) Both Statements 1 and 2 are true.

(D)  Both Statements 1 and 2 are false.

5. Under the Keynesian theory, ‘Reference Line’ is a straight line passing
through the origin drawn at an angle of

(Choose the correct option to fill in the blank) 1
(A) 25° (B) 45°
(C) 55° (D) 75°
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6. 2023 — 24 % HAT TS H TEA HIHS o ITAR, YRR hT el WIHAT (0T o
HAfAh) T F AT A T 20 ARG FUS TATT 45 ARG FHUS AT & | 374
HTE T I T 25 AT FUS BFTI |
(kT <A1 g o foTq Belt forshed & s HINT) 1

(A) TSE
(B) USRI
(C) YR
(D)  uTfHeR
7.  THfAREd Al sl eI aiey ; 1

FoT 1. Hid ST Ygid (MPC) T 377 T8 ST ol T&fid hLaT & |

FT2 :  SE-SY FoRHT 331 1 T R W gheg BT &, START H AU g T
3 ¥ gfg & e a2 |

faw T et o 3TTeties |, fAfeTRad § O gt foehed o1 =R ifse

(A) FIT 1T EIANHAT 2 IR |

(B) I 1IGILINFIT2TIE |
(C) HIT1IN2TNETIE |
(D) HIYT1 23 AT |

8.  fordt fg-anftar srefeawen 1, g I Sew a9 qfd
IECRURCTIRS IR CTIRS (kT b1 9fd o foTe well forshed 1 I HISE) 1
(A)  3aWRT, FemT
(B) fawr, s=@
(C) 39N, ST
(D) ==, fia
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6. According to the data presented in the Union Budget 2023 — 24, the total
receipts of the government (other than borrowings), and the total

expenditure are estimated as ¥ 20 lakh crore and ¥ 45 lakh crore

respectively. Therefore, the value of deficit would be ¥ 25 lakh
crore. (Choose the correct option to fill in the blank) 1
(A) revenue

(B) fiscal

(C) trade

(D)  primary

7. Read the following statements carefully : 1
Statement 1 : Marginal Propensity to Consume (MPC) exhibits the

consumption per unit of income.

Statement 2: As the national income of a country rises, the
proportionate increase in the consumption is always more

than the increase in the income.

In the light of the given statements, choose the correct option from the
following :

(A) Statement 1 is true and Statement 2 is false.

(B) Statement 1 is false and Statement 2 is true.

(C) Both Statements 1 and 2 are true.

(D) Both Statements 1 and 2 are false.

8. In a two-sector economy, Aggregate Supply can be determined by adding

and

(Choose the correct option to fill in the blanks) 1
(A)  consumption, investments
(B) investments, savings
(C)  consumption, savings

(D)  savings, exports

58/5/1 # 7| Page =45 P.T.O.
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9.  TmfaRad semi sl eamgEes ufeu : 1
FHYT 1 Tord TR & o foesft gemar (Foreign aids)ﬁﬁ‘ﬁﬂﬁ'ﬁﬁ%l
Fo72 . Taftaw & wer it uferafen 8w o awd 2 |
few T et o 3TTeties |, FfeTRad & gt foehed o1 =R hifse

(A) FIT19I LI HAT 2 IR |

(B) I 1IGILIANFIT2TIE |
(C) HIT1IN2TNEaTE |
(D) HIT1IN2IA IAHT L |

10. frHfefad 4 @ 3o Refa =t gg=nfe, s faeft T2 % Wi dde (BOP) @Td H =Te],
QT ATINT (CAS) =l 3fd Lt 2 | @@ T I A FINY) 1

(A) ST shi TTHRIT 3T <] W o WA 9T SRR
(B) ST shi NIRRT & =ITe] W o WA H GHHAT

(C) ST o WA ol =Te] WTd 3 STTHT 9T AT
(D) S @I o WA ol YSiT @Td shi SRR O ARy

11.  (F) A fafer o iaia, U T o SATehei ¥ Helferd =ROT o1 Seoid hifSu | 3
areraT

@) R sHredies SAlehel % HTGR W, 2020 — 21 Tl ATER I AFd 8¢, T4
2022 — 23 W STEdloh Hehed ®Xe] 3cdr@ (GDP) # widwrd giterdd sht ot

hifery | 3
@t STiFS T HIE H)
e ATHHTA Gehed | ATHHTA Gohel 9ic] 3418
=] 3c41a (SR Y & Fodl %
TGN GHAIII)
2020 - 21 3,000 5,000
2022 - 23 4,000 6,000
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9. Read the following statements carefully : 1
Statement 1 : Foreign aids are the capital receipts for the government.
Statement 2 : Disinvestments may lead to a decrease in the assets of the

government.
In the light of the given statements, choose the correct option from the
following :
(A) Statement 1 is true and Statement 2 is false.
(B) Statement 1 is false and Statement 2 is true.
(C) Both Statements 1 and 2 are true.
(D) Both Statements 1 and 2 are false.

10. From the following, identify the situation which indicates the Current
Account Surplus (CAS) in Balance of Payments (BOP) account of a
nation. 1

(A)  Excess of receipts on current account over the payments on current
account.

(B)  Equality of receipts on current account and payments on current
account.

(C)  Excess of payments on current account over receipts on current
account.

(D) Excess of payments on current account over receipts on capital
account.

11. (a) State the steps pertaining to the estimation of National Income,
under the Income Method. 3

OR

(b)  On the basis of the following hypothetical data, calculate the
percentage change in Real Gross Domestic Product (GDP) in the

year 2022 — 23, using 2020 — 21 as the base year. 3
(All figures in T crore)
Year Nominal Nominal GDP (Adjusted
GDP to Base Year Price)
2020 — 21 3,000 5,000
2022 — 23 4,000 6,000

58/5/1 # 9| Page =45 P.T.O.
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12,  “9Rd * TR &l 2022 — 23 % AR, Y-ISHITAR GO o Jrgwia o o
IoiTeh o $U o SIS qeddl | g g8 o | 37 AN shl HeTdT giiRerd shid o foig
SY o Joiteh UG ohl HTITIHAT H aIgiadl gs ot 17

ToU T T & STTYR W, TR o $7q oISTe 383 <hl Ug=I o ST hIfSTT | 3

13. (F) “2023 — 24 F g, US $ 70-9 Bn & Ige7 faesft fawr (FDI) Sidate a
US $ 32-4 Bn % S foe3il Gwife™l ast (FDI) sidais o @1 IRdT

STefeaee ¥ el qita ol Twd forar man @ 1
(i) 39Yh AT = o Wer FH T ST | 2
(i) T HIH o [ @Td H UG Hal ohl &1 [T ST o i 2 2
arraT
(@) AT HINT foh, TR oH-g7 fohe TR aurEie oi-a7 8 T ed 2 | 4

14. A ST o, 31 shredfen stefeaensti A 9 B @ fow, @iwid 3aaeT safid (MPC) &
T A 0-8 T 06 7 |

AT rderTarsli & fu, @R Ui (T) = ¥ 400 FE © qdur fAew
= (1) =% 2,000 FUS & |

=i <t or Fifse
(h) TFHITEAT A o T 3T T 99 & (Break-even level) | 2
(@)  FrefegeeT B % foTt ST sh1 Hdeid & | 2

15.  FHfeiad e o ey sTee i

Teh 1AL §, GHT 1T H Scd@H 13 AT o, 21 o Wi & forshre Ereme & o

H AT 3c9 W & 8 | a8 ofiien WY, Teei o fovam W g e qun oM
nfafafer s Ticanfed s+ o fw wiHifaes IR Al dehTed ATIIehdT shl Wifohd Shid]

2l

ST T AT W J 6 HATER R, I I 6l et i e axer ffde
farfa 1 Rer e & T s Fdt 2 | 4
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“As per the Economic Survey of India 2022 — 23, due to the outbreak of
geopolitical conflict, the result was higher international prices for
fertilizer and fuel. Thus, there was a higher fuel and fertilizer subsidy
requirement for supporting the people.”

On the basis of given text, identify and explain the indicated objective of
the government budget.

(a) “The Indian economy has witnessed a sharp turnaround during
2023 — 24 with Foreign Direct Investments (FDI) inflows of
US $ 70-9 Bn and net Foreign Portfolio Investments (FPI) inflows
of US $ 324 Bn.”

(1) Distinguish between the above mentioned economic
variables.

(i1) In which account of Balance of Payments will the given
variables be entered and why ?

OR

(b)  Explain how Accommodating Transactions differ from Autonomous
Transactions.

Suppose for two imaginary economies A and B, the value of Marginal
Propensity to Consume (MPC) stands at 0-8 and 0-6 respectively.
For both the economies, Autonomous Consumption (¢ ) =% 400 crore and

Investment Expenditure (I) =% 2,000 crore.
Calculate the following :

(a)  Break-even level of income for Economy A.

(b)  Equilibrium level of income for Economy B.

Read the following text carefully :

In an economy, a significant reduction in Aggregate demand raised
concerns about future growth prospects of the country. This economic
downturn underscores the urgent need for strategic measures to boost
confidence of households and stimulate economic activities.

Based on the above text and common understanding, explain the
measures which the government may take to stabilise the indicated

situation.

4

58/5/1
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16. (&) “Frdl g H, TG slie deuem, gaw sTiie afdfaiEt aae s
giaerse a9 o fou fafama & e feor areey @ At srar 2 1

D

g1 o AfdS s ot derd ¥ < i | 3
(@)  HET AT sh M, A9 1 37 o Shi hl St hHifs(y | 2
() ©RG T[Tk 3 TOMT oL o1 & feAfaT | 1

17. (&) (1) AW T T, T Fedfie Adeqawn § haa dT w1 A, B3R C |
we ffera samater & SH, 3 g1 ffarfad dea g e #
(D ®H A9 %A BT 2,000 71 HH C I 1,200 % 7 T HIA
[EERREZIN

(II) %4 B %H AT 1,100 791 %4 C I 3,500 % He T HIA
[EERRCRIN

(IID) %H C A &% 1 %1 T 5,700 6 9 o HISA 1 ST STHIT o g
IEERREZIN

IR i £ 120 HMd 8T, TSN Jo W 3[4 Sef 3eare (NDP, ) %

e T JATHT ST | 3

(i)  TorEll g H = TurEETYEl RIS YW A ATl 2000 Y et %
fomior @ stelegaeen § @ehel SRSl 3cU1e (GDP) 9 Shedmul W ETfad

TS shl ST hITT | 3
YT
@ @) o Iuvn aqd fewrss wefa a1
I deh § U T HeH o1 gHede a1 Wed i | 3
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16. (a) “In a country, routine economic operations rely on a stable
medium, to facilitate transactions for maintaining smooth
economic activities.”

Discuss briefly the indicated function of money. 3

(b)  State the meaning and components of M; measure of money
supply. 2

(c)  State the formula to compute Credit Multiplier. 1

17. (a) (1) Suppose, there are only three firms in a hypothetical
economy, viz. A, B and C. During a given period of time, the
following transactions were undertaken by them :

(D Firm A sold goods worth ¥2,000 to Firm B and
1,200 to Firm C.

(I  Firm B sold goods worth ¥1,100 to Firm A and
¥ 3,500 to Firm C.

(ITT) Firm C sold to households for final consumption, goods
worth T 5,700.

Estimate the value of Net Domestic Product at Market Price
(NDPyp), assuming depreciation to be ¥ 120. 3

(i1)  Explain the likely impact of construction of 2000 new schools

providing high-quality education in a nation on Gross

Domestic Product and Welfare in an economy. 3
OR
(b) () “All consumption goods are durable in nature.”
Defend or refute the given statement with a valid argument. 3

58/5/1 # 13| Page =45 P.T.O.
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(i) foU T it & AUR W, TR 3™ (NNP, ) & qed 1 AT
AMRY 3
#.4. W e
@ S )
() | Re] 3TN I 1,800
(ii) | Gerct SaTdTieEs Tl st frmior 1,150
(iii) | SRl AT fHwior = 1,020
(iv) | SRR Sifqw SaviT =z 2,170
(v) | Feia o st i st 720
(vi) |¥T@E=T (Inventory) e 540
(vii) | ToheT HrasTi=eh faeT 1,300
(viii) | X[E STIIE T 240
(ix) | Terceri & T Y1 shreh 3 (-) 250
(x) | Fom i o U 440
Lus g
aRer amfefen faremmar
18. U [l wod & M W, T ThR I weai w13caed . o faforefimor
EXSCRESICIRS Il (kT <A1 g o foTq WEt forshed T oA hISIT) 1
(A)  wEd
(B) Y Icured
(C)  &rfta &TemT
(D) TSR
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(ii1) On the basis of the given data, estimate the value of

National Income (NNPp.) : 3
S.No. | Items (if?glrt'z:e )
1) Household Consumption Expenditure 1,800
(i1) Gross Business Fixed Capital Formation 1,150
(iii) Gross Residential Construction Expenditure 1,020
(iv) Government Final Consumption Expenditure 2,170
(v) Excess of Imports over Exports 720
(vi) Inventory Investments 540
(vii) Gross Public Investments 1,300
(viii) | Net Indirect Taxes 240
(ix) Net Factor Income from Abroad (=) 250
(x) Consumption of Fixed Capital 440

SECTION B

Indian Economic Development

18. Production of diverse varieties of crops, rather than one specialised crop,

is known as diversification of

(Choose the correct option to fill in the blank) 1
(A)  Crops
(B)  Agricultural Production
(C)  Sectoral Composition

(D) Employment

58/5/1 # 15| Page =45 P.T.O.
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19. FfcTRad et — SR (A) TR R (R) 3T T3 hHINT |
T few Ty foaeneat 0 @ o) foere o1 ==H hifse 1
SR (A) : AT 5 T 3= SR (S Top 1871 o Tareear) § Heiferd gen JTd i
EANIE= GRS

FR (R) : AT YSfl €27k o HRICTAH ST o ToTq HeT 0T o5 1T ¢ |

forerea

(A) AR (A) 3R FHWOT (R) IHT 9T & qAT HROT (R), AR (A) Fl T
AT FAT R |

(B)  3IMeheM (A) 3T HRI (R) IHT AT &, Tfeh ol (R), TR (A) T Gt
AT 78T T & |

(C)  AMHIT (A) HeT &, Aok HI0T (R) T # |

(D)  3INTRAT (A) T8 B, AfohT RO (R) I & |

20. TN IUIA I H, A o fifc AT gem _ a1 JSHTST o forg
‘AT 9T SIR feam o |

(foeh T <61 qfd o forq welt forshcd ST s IfSiY) 1
(A)
(B)
(C)
(D)

© o g9 O

21. U9 it fob, ara # grfter stk yoreft & el # fefoifaa & & si-a1 s
AT T ? (e foaehed T A HIST) 1

(A)  9Rd H JEr ST Sorredt H Sg-UseT €1 o Ush SHg |iierd © |

(B)  EoIdT SWid Y H, YR H Toh FTe &9 § GXfwrd qrfior sifer yoredt s
frwfor feper e o |

(C)  &pft arefior sfe, TEehrt a f forehrer S v § Trveior Sfeh sorTeft o Heen € |
(D) 9RA ¥ Ui SR JomTelt R €2 S o Hriey, ey 9 qdaer &

SaTid o1 R 2 |
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19. Read the following statements — Assertion (A) and Reason (R).
Choose the correct option from the options given below : 1

Assertion (A) : People spend to acquire information related to labour and
other markets (like, education and health).

Reason (R): Expenditure on information is necessary for efficient
utilisation of the human capital stock.
Options :
(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of Assertion (A).

(C)  Assertion (A) is true, but Reason (R) is false.
(D)  Assertion (A) is false, but Reason (R) is true.

20. In the post-independence era, the policy makers of India emphasised on
‘self-reliance’ for the first Five Year Plans.

(Choose the correct option to fill in the blank) 1
(A)
(B)
C)
(D)

© 0 g O

21. Identify, which of the following statements is incorrect about the Rural
Banking system in India. (Choose the correct option) 1

(A) The Rural Banking system in India consists of a set of
multi-agency institutions.

(B) In the post-independence period, a well-structured Rural Banking
system was formulated in India.

(C)  Regional Rural Banks, Cooperative and Land Development Banks
are components of the Rural Banking system in India.

(D) The Rural Banking system in India works under the guidance,
instruction and supervision of the State Bank of India.

58/5/1 # 17| Page =45 P.T.O.
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22,  YEHM hifSIT ok, TS0 oh R o He § FHfeiRad | § hi9-91 e T & ?
(@& forcd FITA FINT) 1

(A)  YFTeROT HHETEH SUTsY AT 2 |

(B)  UTauT STUSI i I AT & |
(C)  wTaRoT Sfia 3T 9IS HLdT & |

(D)  ATeoT Sffa T TUrET o &7 AT & |

23. TARfafgd AT — 31T (A) 3T HROT (R) AT ST hiTSTT |

Tt fow v faeneat 0 O o) foened ot ==H hifs 1
HYF (A) : 1991 H TR TorT 1T forfiar & Gemi o 3fard, siehi & foraeit foemT 3
T ST 74% deh ST &1 T8 of |
FR(R): 1991 % 39T, ferasft deemTa Fawrent (FIIs) ot YRd Y faxfia srstrt
o ferer sF T oAfa T €S oft |
IEETE
(A)  IERYE (A) 3R &R (R) THT T & 9T HROT (R), ANTRIT (A) ST @&t
STRST AT § |
(B)  TRY (A) 3T FROT (R) AT T & AT SRl (R), 3T (A) 1 |l
ST 781 HAT 2 |

(C) AT (A) HcT &, Afohd HI0T (R) T # |
(D) 3R (A) 1A &, AfRT RO (R) T § |

24. “HW ST foh, Tk Hreuen Aefsgae ardfaesh el 9] 3cae (GDP) | gfg
i Rerfar 1 7w X T 8, STaIfer srefoaea § ISR o 7o) § wate i e 2
wWe” 1

el feorfa s, amfofen s Sreft & Jfg FET AL |
(Foeh T <61 gfd o foTq welt forshed =1 <> hfSIY)

(A) I (Casual)

(B) U=
(C) =Tl
(D) SR o=
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22. Identify, which of the following statements is imcorrect about the

functions of environment. (Choose the correct option) 1
(A)  Environment provides resources.

(B) Environment absorbs wastage.

(C)  Environment sustains life.

(D) Environment deteriorates quality of life.

23. Read the following statements — Assertion (A) and Reason (R).

Choose the correct alternative from the options given below :

Assertion (A) : Under the financial sector reforms introduced in 1991,

foreign investment limit in banks was raised up to around
74%.

Reason (R):  Foreign Institutional Investors (FIIs) were allowed to

invest in Indian financial markets, post-1991.

Options :

(A)

Both Assertion (A) and Reason (R) are true and Reason (R) is the

correct explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of Assertion (A).
(C) Assertion (A) is true, but Reason (R) is false.
(D)  Assertion (A) is false, but Reason (R) is true.
24. “Suppose an imaginary economy is experiencing a situation of rise in

Real Gross Domestic Product (GDP), without any corresponding adequate

rise in the employment opportunities in the economy.”

In economic parlance, such a situation is termed as growth.
(Choose the correct option to fill in the blank) 1
(A) Casual
(B) Informal
(C)  Formal
(D)  Jobless
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25.  TrfciRad ol sl eamgees ufet : 1
Fo 1 : Tofest il o HROT AR Steferewe o fgdiae 9 g aEl 6 e
TR H SHTR G 3T 4T |
FIT2 ;. INUMANRTH GRR o TEHTHT i o [IohM shl ITEdfah e A
fedt ot AmTfeard SR o |

feu U oMl o 31T |, FREfafgd § @ g2t foshed o1 ==a fifsig
(A) FAT1HIE AN FHIT2 IFIR |

(B) U133 ANFIT2TTE |

(C) w132 aTL |

(D) U 13N 2T A2 |

26. TFIRIT oAl I IS UleT : 1
F99 1 HER gR AT G0 9o (MSP) W T 11T W= & 37 sl %
L HEIH @IS |
FIYT2 ;.  IAH quT ged (MSP) FN Ie1e gt § forelt oft offer fiRrere o foeg,
Feh] <Rl GRET & LT € |
feu U oMl o 31T |, fAEfafad § 9 g8t foshed o1 = s
(A) FFM1TITLINFT23TL]  (B) FIYT1 AT L AN FIT 2T |
(C) FT1AN2TNTAR | (D) FIT1JAX 2T A E |
27.  TrfIRad = o1 eaqesh ST i ; 1
fafora anféfers gomefy

£

TRA 3T grferear

t‘?

Fr=fafaa o @ g w9 fosrea &1 =99 ST, S 1947 1 79 & ST 9Rd o

qrfereaT =hT e # gHEare ol 3 AT g CHAEETREIREREEAISIY!
(A) el hma- et Hifd (B)  HFH YOIl
(C)  Tq Wi (D) HE™ HAERI HiEah{deh shild
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Read the following statements carefully : 1

Statement 1 : The British policies led to huge employment generation in
the secondary and tertiary sectors of the Indian Economy.

Statement 2 : The real motive of the colonial government’s infrastructural
development was to benefit interests of India.

In the light of the given statements, choose the correct alternative from

the following :

(A) Statement 1 is true and Statement 2 is false.

(B) Statement 1 is false and Statement 2 is true.

(C) Both Statements 1 and 2 are true.

(D)  Both Statements 1 and 2 are false.

Read the following statements carefully : 1

Statement 1 : The purchase of food grains, made by the government on
the Minimum Support Price (MSP), is maintained as buffer
stock.

Statement 2 : Minimum Support Price (MSP) safeguards the farmers
against any sharp fall in farm product prices.

In the light of the given statements, choose the correct option from the

following :

(A) Statement 1 is true and Statement 2 is false.

(B) Statement 1 is false and Statement 2 is true.

(C) Both Statements 1 and 2 are true.

(D) Both Statements 1 and 2 are false.

Study the following image carefully : 1

Mixed Economic System

Green Revolution

Similarities in Policies of
India and Pakistan

ig

From the following, choose the correct option which indicates similarities
in the policies of India and Pakistan, in the post-1947 period :

(Choose the correct option)
(A)  Dual pricing policy (B) Commune system
(C) Import substitution (D) Great Proletarian Cultural Revolution

58/5/1
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&) R § forfewr shuftafirer smam 3 syafteq el o foram o, e fre
1 AT G5 o TTT, R o GH1EET 9 SFIf T ale ieaferd o |”
T TYEIRTOT T T T =hof <hl I8 hifr |
Jrerar
@) “1991 % uW & i IRA I fafawr ffd § G & & Uk
(PSUs) © Gt i fexdardt it forsht aftafera of 12
39 foia sl o & fi SRR o o Wy hifse |

frefcTiRad HATehel =T ST Fd U, Hehcd alRid Hed (GVA) H WRA I UTiHed™ 6
& ANTe Rt forgadwor shifsTy |

2018 - 19 H USFIR U Gl AIed 4o (%) & &A1 331
FTfeicT T faaeur

gehoT Jfefd 7 T FhreH

HId

=

o
Ylleh&dl

HId

=

CUEZSIE]

&
F

16

7

24

43

26

41

ESIUl

30

41

19

25

28

24

LELl

54

52

57

32

46

35

amT

100

100

100

100

100

100

fefcTRerd e sh! eaTga ufey :
T 7 STIITET T MedTed i o foTe 63 Hifera aitard fohe o |

1970 o 331k o 3id # fafer= & & < it onifdfer afig i & oft | BTcifon, s =
IO STl Titerdd o ToIq sigd Seteft 6t agl off | WiRd =il Hewrqul ATl Sl
1991 = T R o 3uid & 9o sht 13 oft, Swg wstedl o s ony foram
or |

faQ QT o WA o SATUR W, = o ARG GRS fhU T Gari o TrE 6
T RIS |
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28. (a) “British colonial rule in India executed a systematic economic
exploitation that involved the extraction of India’s resources and
wealth to benefit Britain.”

Justify the given statement with valid explanation. 3

OR

(b)  “The disinvestment policy of India under the 1991 reforms involved
selling of part of the government’s stakes in Public Sector
Undertakings (PSUs).”

Explain the rationale behind the decision undertaken by the
government. 3

29. Using the following data, analyse the sectoral contribution of India and

Pakistan towards Gross Value Added (GVA). 3
Sectoral Share of Employment and GVA (%) in 2018 - 19
Soctor Contribution to GVA Distribution of Workforce
India | China | Pakistan | India | China | Pakistan
Agriculture 16 7 24 43 26 41
Industry 30 41 19 25 28 24
Services 54 52 57 32 46 35
Total 100 100 100 100 100 100

30. Read the following text carefully :

China underwent substantial policy changes to stimulate their economy.

China’s economic growth was rapid in the late 1970s across various
sectors. However, India had to wait much longer for its economic
transformation. India’s significant economic progress was only realised
after the economic reforms of 1991, which were implemented out of

compulsion.

On the basis of given text and common understanding, compare the

impact of subsequent reforms initiated by China and India. 4
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31. (F) () HEEYSH o ik YSft o wer 3Hat T i | 3
(i) ey fomm i ity il | 1
areaT
@) () IO RG H GaH-O wrRish o Hew W Had § 9uid i | 3
(i) YRd ¥ gRoiter faehm I8 o 4 gftafad fRel T wHifa 1 Seog
TSI | 1
32. U T 5, Iwoi I foreqa e shifsi for fmforiaa srem we & A 3o
(F) ORAR AT T B & %k g9 H, hEad & =R fi e o
IS TIfd S90S & | 2
(@) AR T IiGe |, i ffaeiehtor 3T o 37X &l 91e & ot U 3fua
T FET T IR | 2
33. (F) () AT iaEATIA A Y, AT WAoo § TR] e o T, e TRt
ot Srelezrereer o foTQ gurl doram |ferd &t wehd € 17
1 A T T FUA W FEHd & ? W TRl gRI O IHW A g
HINT | 4
(i)  3IecrE HIFT foh Tguefis IR fore TR fauefia =mm & i 7 | 2
raT
@) ()  9RdH A Gri o S T ohT 71T T G o 0T o TROTHT
T HEY § <=1 ShISTT | 4
(i) YA H Grasii-eh &5 hl Toled I Y8R shu-1 ohl Ush-Ush SEEUT difSie | 2
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31. (a) (@) Distinguish between human capital and physical capital. 3
(i1)  Define Sustainable Development. 1
OR
(b) () Describe briefly the importance of micro-credit programmes
in Rural India. 3
(ii) State any one strategy involved in attaining sustainable
development in India. 1
32. State and elaborate whether the following statements are true/false, with
valid arguments :
(a) The Indian economy has shown satisfactory progress towards
formalization of workforce in the recent years. 2
(b) In the Indian rural landscape, agricultural diversification has
emerged as a reasonable alternative to fill up the gaps in income. 2
33. (a) (@) “Import substitution policy, if not applied carefully, can be a
double-edged sword for any economy.”
Do you agree with the given statement ? Justify your answer
with valid arguments. 4
(ii)) State how multilateral trade is different from bilateral
trade. 2
OR
(b) () Discuss briefly, causes and consequences of the tax reforms
initiated during economic reforms in India. 4
(i1) Give one example each of a Navratna and a Maharatna
company in the public sector in India. 2
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34. TmfaRad w1 eayes ufeu :
o1 o7 WTieRT g7 (LFPR) foreft T5g O i 7T |fsha &9 8 USTIR sht aamsT
H T8 ARRAT o JIGd I AT & | 9Rd |, 2000 — 2019 & AT 99 9 |
99-2 Taferam TRt o1 Ifg g3 off | 27 91 396-3 THieR & Sgat 495-5 Tufera &
T T |
2012 — 2019 % RH, USFIX H GHE gfg o o1 2| oA H g8 gfg 8 US|
eIl 88 off |
TR & 91 TSR § A 1Teh STEHHAT Sed@H 1T 8, 2022 § ATt shl 97 el Wriierl
& (LFPR) 32-8% @, ST fo Tewi ol 2% it Wifte’l &0 (LFPR) 77-2%, | 1! A
g | I ARG HT G T S WAER! & (LFPR) %1 TF Y@ %R &, S {6
Ifsgen 3THad o1 ot WfeRT 3 (LFPR) 47-3% S FA € |
2000 — 2019 & R, TTHT 97 T Ve & (LFPR) ® 14-1% 61 fivtae 1 7,
Sraifer Iedt & 0 3-5% I firree 3118 off | 2019 — 2022 & HeT I YR Ueie T,
Trfior 2 o1 IEERT @ (LFPR) T 6% (foeiwert omior afgermst #) 37T wredt sm
o AfeRl & (LFPR) H 2:1% 9 €3 | A aiterd aw1id & foh afeanstl sht o s
ITfierl § SAR-TgTd BidT 2, Toreisert areior &7 7 |
3O T 9T 9 WRfER) & (LFPR) o sht g foram ® | afgamd smfelew
FHISATEAT o SN FREISA H IMHA BT &, q°T 9 IR § gar e &, daf o

Friee O fHehed STt & |

few e ey 9 T I % AR W, fAEferfaa yeat & s A

(F)  SUSATHY SRt gfrfye Fife | 1

@) o9 9 YrfeRl g (LFPR) &1 319 fafiau | 2

(M 2000 — 2019 F T TWAT 7 IEE o9 57 AFfeRT e (LFPR) ® «ifies
QTS 9T fequft Hif iy | 3
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34. Read the following text carefully :

The Labour Force Participation Rate (LFPR) measures the percentage of
the population either employed or actively seeking employment in a
nation. In India, the labour force grew by 99-2 million persons between
2000 — 2019. The labour force grew from 396-3 million to 495-5 million.

During 2012 — 2019, the labour force grew without a matching increase in
employment, leading to higher unemployment.

The gender disparity in India’s labour market is notable with women’s
LFPR at 32:8% in 2022, significantly lower than men’s LFPR at 77-2%.
This is a major reason for India’s overall low LFPR, which is lower than
the global average of 47-3%.

During 2000 — 2019, rural LFPR declined by 14:1%, compared to a 3-5%
decline in urban areas. This trend reversed between 2019 — 2022, with
rural LFPR increasing by 6% (especially among rural women) and urban
LFPR by 2:1%. These shifts suggest that fluctuations occur in women’s

labour market participation, particularly in rural areas.

This significantly affected the overall LFPR. Women join the workforce
during economic hardships and move out when conditions improve.

On the basis of the given text and common understanding, answer the
following questions :

(a) Define unemployment. 1

(b)  Write the meaning of Labour Force Participation Rate (LFPR). 2

(c) Comment upon the gender disparities in rural and urban Labour
Force Participation Rate (LFPR) during 2000 — 2019. 3
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